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1 TSH > ! 65 | uu/ml TSH > 10 | pU/ml
3 TSH > 7 uu/ml TSH > 10 | pu/ml
. TSH > 1 795 ! pu/ml TSH > 10 ! pu/ml
or TSH = 97 %ile
: TSH > 8 pu/ml TSH > 10 | pu/ml
or TSH = 3 %ile
) TSH > 8 uu/ml TSH > 10 ! pu/ml
10 TSH > 10 pu/ml TSH > 10 puuU/ml TSH > 30 puu/ml
13 TSH = 9 uu/ml TSH = 9 uu/ml TSH = 25 uu/ml
1 TSH = 8 pu/ml TSH = 8 uU/ml
or TSH = 97 %ile
1 TSH > 7 uu/mi TSH > 10 pu/mi
or TSH = 97 %ile
N TSH > 8 uu/mi TSH > 10 pu/ml
or TSH = 97 %ile
N TSH > 8 uu/mi TSH > 10 pu/mi TSH > 25 pu/mi
or TSH = 97 %ile
N TSH > 7 uu/mi TSH > 10 pu/mi
or TSH = 95 %ile
TSH = 10 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
22 or TSH = 95 %ile
or FT4 < 1 ng/dl
23 TSH = 8 pnu/mi TSH = 8 uu/mi
" TSH = 6.5 uu/ml TSH = 10 uu/mi TSH = 25 umol/I
or TSH = 96 %ile
25 TSH = 8 uu/ml TSH = 8 uU/ml TSH = 30 uu/ml
or TSH = 95 %ile
27 TSH > 10 uu/mi TSH > 10 pu/mi
28 TSH = 8 pnu/mi TSH = 9 uu/mi
or TSH = 96 %ile
2 TSH > 7 uu/mi TSH > 9.5 | pu/ml TSH > 20 pu/mi
or TSH = 97 %ile
2 TSH > 7 uu/mi TSH > 10 pu/mi
or TSH = 95 %ile
a TSH > 10 uu/mi TSH > 10 pu/mi
or TSH > 95 %ile
32 TSH = 8 uu/mi TSH = 8 uu/mi TSH = 25 uu/mi
33 TSH > 9 uu/mi TSH > 9 uU/ml
34 TSH > 85 | pu/ml TSH > 10 pu/mi
N TSH > 8 uu/mi TSH > 10 | pU/ml
or TSH = 95 %ile
37 TSH > ! 65 | uUu/ml TSH > ! 75 1 uU/ml TSH > 30 | pU/ml
2 TSH 2 8 uu/ml TSH = 10 | pu/ml
or TSH = 95 %ile
0 TSH 2 6 uu/ml TSH = 10 | pu/mi TSH = 15§ pu/mi
or TSH 2 97 %ile




42 TSH > 8 uu/mi TSH > 10 pu/mi
s TSH > 7 uu/mi TSH > 1 95 |} uu/ml
or TSH = 97 %ile
. TSH > ! 795 | uu/ml TSH > 10 ! pu/ml TSH > 30§ pu/ml
or TSH = 97 %ile or FT4 < 0.95 ng/dl
.8 TSH > 7 uu/mi TSH > 10 | pu/ml TSH > 30 | uu/ml
or TSH = 95 %ile
49 TSH > 9 uu/ml TSH > 9 uU/ml TSH > 30 | pu/ml
o TSH > 9.4 | pu/ml TSH > 9.4 | pu/ml
or TSH = 97 %ile
- TSH > 7 uu/mi TSH 10 pu/mi
or TSH = 95 %ile
60 TSH > 10 pu/ml TSH > 10 puU/ml TSH > 30 puu/ml
64 TSH > 8 uu/ml TSH > 8 uU/ml TSH > uu/ml TSH > 30 | pu/ml
o TSH > 7 nu/mi TSH > 10 pu/mi
or TSH = 97 %ile
67 TSH > 10 uu/mi TSH > 10 pu/mi
o8 TSH = 8 uu/ml TSH = 9 uu/ml
or TSH = 96 %ile
69 TSH >t 10 {2 TSH > ! 10 Lo TSH >t 30 (o
71 TSH = 10 pU/ml TSH = 10 uU/ml TSH = 30 uU/ml
7 TSH = 9 uu/ml TSH = 10 uu/ml
or TSH = 97 %ile
74 TSH = 8 uu/ml TSH = 8 uu/ml
or TSH = 97 %ile
75 TSH = 9 uu/ml TSH = 9 uu/ml TSH = 30 uu/ml
76 TSH > 7 uu/mi TSH > 10 pu/mi
78 TSH = 7 uu/ml TSH = 9 uu/ml
or TSH = 95 %ile
TSH = 7 pu/ml TSH = 10 uu/ml TSH = 30 pu/ml
or FT4 < 1 ng/dl or FT4 < ng/dl or FT4 < 0.5 ng/dl
82 or FT4 = 3.5 ng/dl or FT4 = 4 ng/dl or FT4 = 5 ng/dl
or TSH = 95 %ile
or FT4 = 5 %ile
& TSH > 9.4 | uu/ml TSH > 9.4 | uu/ml TSH > 1 188 | pU/ml
or TSH = 97 %ile
TSH = 8 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
or HAERE < | 2000 g or HAERE < | 2000 g or HERE < | 2000 g
84 & FT4 < 0.7 ng/dl | & FT4 < 0.7 ng/dl & FT4 < 0.3 ng/dl
or HAERE = | 2000 g or HAERE = | 2000 g or HAERKRE = | 2000 g
& FT4 < 1 ng/dl & FT4 < 1 ng/dl & FT4 < 0.5 ng/dl
o TSH > 9 uu/mi TSH > 9 pu/mi TSH > 40 pu/mi
or TSH = 95 %ile or TSH = 99 %ile
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1 17-OHP(E %) = 4 ng/ml 17-OHP(EE $%) = 4 ng/ml 17-OHP(E #%) = 4 ng/ml
3 17-OHP([& ) = 6 ng/ml 17-OHP(E ) = 6 ng/ml 11-DOF = 4 ng/ml
6 17-OHP(E %) = 3.7 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E #%) = 4 ng/ml
7 17-OHP([& ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(IE ) = 4 ng/ml
8 17-OHP(E %) = 5 ng/ml 17-OHP(IE $%) = 5 ng/ml 17-OHP(H#1H) = 4 ng/ml
17-OHP([& ) > 5 ng/ml 17-OHP(LCMS) > 1 ng/ml 17-OHP(LCMS) > 20 ng/ml
10 (17-OHP+4-AD)/F > 0.1 ratio or 21-DOF > 1 ng/ml
11-DOF/17-OHP < 0.3 ratio
17-OHP(E #%) 2 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(LCMS) = 1.5 ng/ml 17-OHP(LCMS) = 5 ng/ml |BMFEEHY MATBORAEF2181ZHD 1 17-0OHP
1 11-DOF/17-OHP | < 0.3 ratio | & ! 11-DOF/17-OHP | < 0.1 ratio 5’1117‘3)?_:2;;‘1?;‘25 021\7—9%;?;;?—?,;;
(17-OHP+4-AD)/F | = 0.3 ratio | & ! (17-OHP+4-AD)/F | = 2 ratio miIemE
& 21-DOF = 1 ng/ml
1 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml
or 17-OHP([& ) = 97 %ile or 17-OHP(IE %) = 97 %ile 11-DOF/17-OHP = 0.3 ratio
1% 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP([& ) = 95 %ile
17 17-OHP(E %) = 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP(#1 ) = 3.5 ng/ml
or 17-OHP([& ) = 95 %ile
2 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 5 ng/ml 17-OHP (31 H) = 4 ng/ml 17-OHP(E ) = 50 ng/ml
or 17-OHP(E $%) = 95 %ile or 17-OHP(3fi ) = 10 ng/ml
’ 17-OHP(E %) = 4.5 ng/dl 17-OHP(IE $%) = 45 ng/dl 17-OHP(H#1H) = 2.5 ng/dl
or 17-OHP([E %) = 95 %ile
- 17-OHP(E %) = 4 ng/ml 17-OHP(IE $%) = 4 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP(3f Hi) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
23 17-OHP(E %) = 10 ng/ml 17-OHP(E $%) = 10 ng/ml 11-DOF > 2 ng/ml
17-OHP(E #%) = 6.5 ng/ml 17-OHP(IE %) = 6.5 ng/ml 17-OHP(LCMS) = 15 ng/ml 17-OHP(LCMS) = 5 ng/ml
24 or 17-OHP(E ) = 95 %ile 11-DOF/17-OHP = 0.4 ratio & 11-DOF/17-OHP = 0.4 ratio
& 21-DOF = 1 ng/ml
’s 17-OHP(E %) = 4 ng/ml 17-OHP(IE $%) = 10 ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP(3f Hi) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
27 17-OHP(E %) = 5 ng/ml 17-OHP(E {%) = 5 ng/ml 17-OHP(E #%) = 1.8 ng/ml
28 17-OHP(E 1%) = 4 ng/ml 17-OHP(E ) = 10 ng/ml 17-OHP($i ) = 4 ng/ml
or 17-OHP([E ) = 95 %ile
29 17-OHP(IE $%) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(1H) = 4 ng/ml 17-OHP(#1H) = 10 ng/dl |BFE (HEHKE2,500g U ) 0
10 17-OHP(E %) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP([E %) = 95 %ile
3 17-OHP(E %) = 4 ng/ml 17-OHP(IE 1%) = 4 ng/ml 17-OHP(H1H) = 4 ng/ml
or 17-OHP([E %) > 95 %ile
32 17-OHP(E #%) = 4 ng/ml 17-OHP(E {%) > 4 ng/dl 17-OHP(E $%) = 10 ng/ml
33 17-OHP(E %) = 5 ng/ml 17-OHP(E {%) > 5 ng/ml 17-OHP(IE $%) = 4 ng/ml
34 17-OHP(E $%) = 45 ng/dl 17-OHP(E {%) = 5 ng/dl 17-OHP(E {%) = 5 ng/dl
35 17-OHP(E $%) = 5 ng/ml 17-OHP(& $%) = 5 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
17-OHP(E #%) = 4 ng/ml 17-OHP(I& #%) = 4 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP(E %) = 50 ng/ml
37 or 17-OHP({i ) 2 8 ng/ml
& HERE = | 2000 g




18 17-OHP(E %) = 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP(H#1 H) = 35 ng/ml
or 17-OHP(E %) = 95 %ile
" 17-OHP(E %) = 4 ng/ml 17-OHP(E 1%) = 4 ng/ml 17-OHP(31 Hi) = 3 ng/ml 17-OHP(E %) = 30 ng/ml [EHAEASE R T2HIERESD
or 17-OHP(E #%) = 95 %ile | or 17-OHP(E 1%) = 95 %ile or 17-OHP(3i H}) = 10 ng/ml
17-OHP(IE %) = 4 ng/ml 17-OHP(IE %) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml
42 & | (17-OHP+4-AD)/F | = 0.1 ratio
& 17-OHP($ ) = 0.3 ratio
43 17-OHP(E %) = 4 ng/ml 17-OHP(IE $%) = 4 ng/ml 17-OHP(H#1H) = 4 ng/ml
a7 17-OHP([& ) = 3.7 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
or 17-OHP(E %) = 95 %ile
17-OHP([& ) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml 17-OHP(I& %) = 30 uu/ml
48 or 17-OHP(E %) = 95 %ile & | (17-OHP+4-AD)/F | = 0.1 ratio or 21-DOF = 1 ng/ml
& | 11-DOF/17-OHP = 0.3 ratio
49 17-OHP(E %) = 5 ng/ml 17-OHP(IE #%) = 5 ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP($1H) = 10 ng/ml |EMFEEBIOVTIHRARE IR (3RRC
4 17-OHP([& ) = 5 ng/ml 17-OHP(E ) = 5 ng/ml 17-OHP(E ) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
o 17-OHP([& ) = 3.5 ng/ml 17-OHP(E ) = 35 ng/ml 17-OHP(E ) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
17-OHP(E %) > 5 ng/ml 17-OHP(LCMS) > 1 ng/ml 17-OHP(LCMS) > 20 ng/ml
60 & (17-OHP+4-AD)/F > 0.1 ratio or 21-DOF > 1 ng/ml
& | 11-DOF/17-OHP < 0.3 ratio
17-OHP(EL#%) = 10 ng/ml 17-OHP(E %) = 10 ng/ml TERRB R = 37 week ERaB R =3 37 week | ZIRIRELEMEED DY M BTGB
64 & 17-OHP(E $%) > 10 ! ng/ml | & 17-OHP(EL $%) = 30 ! ng/ml E?;@'Jﬁu
or | 17.0HP(EH) | = 2 | ng/ml | & | 17OmPUEE) | = | 10 | ng/ml |RRE
66 17-OHP(E $%) = 4 ng/ml 17-OHP(HE #%) = 4 ng/ml 17-OHP($1 H) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
67 17-OHP(E $%) = 5 ng/ml 17-OHP(HE $%) = 5 ng/ml 17-OHP(LCMS) = 2.5 ng/dl
o8 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 10 ng/ml 17-OHP(Hf1 H) = 4 ng/ml
or 17-OHP([E %) = 95 %ile
17-OHP(E #%) = 5.5 ng/ml 17-OHP(IE $%) = 5.5 ng/ml 17-OHP(LCMS) = 2.5 ng/ml 17-OHP(LCMS) = 50 ng/ml
6 & | (17-OHP+4-AD)/F | = 0.1 ratio | or 21-DOF > 2 ng/ml
& 11-DOF/17-OHP = 0.2 ratio | or TERREE = 37 week
& 17-OHP(LCMS) = 20 ng/ml
17-OHP(E #%) = 5.5 ng/ml 17-OHP(E %) = 5.5 ng/ml 17-OHP(H#1H) = 3.5 ng/ml 17-OHP(LCMS) = 20 ng/ml |2023% 108 £H=IRIRELCMSMSIEENE
" or 17-OHP(LCMS) = 25 ng/ml | & ERaEA% = 37 week
& 11-DOF/17-OHP = 0.2 ratio or 17-OHP(LCMS) = 50 ng/ml
& | (17-OHP+4-AD)/F | = 0.1 ratio | or 21-DOF > 2 ng/ml
73 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(3f1 Hi) = 3.5 ng/ml
or 17-OHP([E %) = 95 %ile
24 17-OHP(E %) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(E #%) = 1 ng/ml
or 17-OHP(E 1%) = 97 %ile or 17-OHP(E §) = 97 %ile & 17-OHP($i ) = 0.3 ratio
75 17-OHP([E %) = 5.8 ng/ml 17-OHP(E #%) = 5.8 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP(H1 Hi) = 7 ng/ml
76 17-OHP([E %) = 6 ng/ml 17-OHP(E §) = 6 ng/ml 17-OHP($i ) = 4 ng/ml
8 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(H1H) = 3.5 ng/ml
or 17-OHP(E 1%) = 95 %ile or 17-OHP(E §) = 95 %ile
- 17-OHP(E %) = 3.5 ng/ml 17-OHP(H1H) = 3.5 ng/ml 17-OHP(H#1H) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
17-OHP(E %) = 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP(LCMS) = 2 ng/ml 17-OHP(LCMS) = 5 ng/ml
or 17-OHP(E 1%) = 95 %ile & | (17-OHP+4-AD)/F | = 0.2 ratio & | (17-OHP+4-AD)/F = 0.2 ratio
83 & 11-DOF/17-OHP = 0.4 ratio | & | 11-DOF/17-OHP =< 0.4 ratio
or 17-OHP(LCMS) = 5 ng/ml
& 21-DOF = 1 ng/ml
17-OHP([E %) 2 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml 21-DOF = 1 ng/ml
& | (17-OHP+4-AD)/F | = 0.1 ratio | or TERRE < 37 week
84 & | 11-DOF/17-OHP = 0.3 ratio | & | 17-OHP(LCMS) = 30 ng/ml




or TERRE = 37 week
& | 17-OHP(LCMS) = 20 ng/ml

& 17-OHP(IE %) = 6 ng/ml 17-OHP(IE %) = ng/ml 17-OHP(E $%) = ng/ml 17-OHP(IE %) = 20 ng/ml | RFABLUS — XD 2D2HEET &HTE
or 17-OHP(E $%) = 95 %ile & 17-OHP(E %) = 20 ng/ml
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1 Gal = 3 mg/dI Gal = 4 mg/dl
or Gal-1-P = 14 mg/dl | or Gal-1-P = 15 mg/d|
3 Gal = 2.5 mg/dI Gal = 3 mg/d|
Gal = 25 mg/dl Gal = 3 mg/dl
6 or T-Gal = 8 mg/dl | or T-Gal = 10 mg/dl
or Gal-1-P = 15 mg/d|
Gal = 3 mg/dI Gal = 3 mg/dl
7 or T-Gal = 10 mg/dl | or T-Gal = 10 mg/dl
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
8 Gal > 2.5 mg/dl Gal > 3 mg/d|
or Gal-1-P > 13 mg/dI or Gal-1-P > 15 mg/d|
10 Gal > 3 mg/dl Gal > 3 mg/dl E_DE%T?JWI\?U : Gal >10mg/dL and "1k~
or Gal-1-P > 15 mg/dl | or Gal-1-P > 15 mg/d| S—EENE BAAL
13 Gal = 6.5 mg/dl Gal = 8 mg/dl
or Gal-1-P = 22 mg/dl | or Gal-1-P = 25 mg/d|
1 Gal = 25 mg/dl Gal = 3 mg/dl
or Gal-1-P = 13.5 mg/dl | or Gal-1-P = 15 mg/d|
16 Gal = 3 mg/dl Gal = 6 mg/dl
or Gal-1-P = 15 mg/d|
Gal = 2.5 mg/dl Gal = 3 mg/dl
17 or T-Gal = 6.45 mg/dI or Gal-1-P = 15 mg/dl
or T-Gal = 97 %ile
20 Gal = 3 mg/dI Gal = 3 mg/dl
or Gal = 97 %ile
T-Gal = 4 mg/dI T-Gal = 7 mg/d|
21 or Gal = 4 mg/dl | or Gal = 3 mg/dl
or Gal-1-P = 10 mg/d|
- Gal = 3 mg/dl Gal = 3 mg/dl
or Gal-1-P = 10 mg/dI or Gal-1-P = 10 mg/dl
23 Gal = 3 mg/dl Gal = 3 mg/dl
” Gal = 2 mg/dI Gal = 3 mg/d| Gal = 10 mg/d|
or Gal-1-P = 10 mg/dl | or Gal-1-P = 15 mg/dl
Gal 2 3 mg/dl Gal = 3 mg/d| Gal = 3 mg/dl |BMFEE : Gal 3mg/dl & RAMS—iE (EMH)
25 or Gal = 95 | %le | or Gal-1-P > 15 | me/d {5 =
or Gal-1-P = 15 mg/dI
27 Gal = 3 meg/dl Gal = 3 mg/dl
28 Gal = 3 mg/dI Gal = 3 mg/d|
or T-Gal = 10 mg/dl | or Gal-1-P = 15 mg/dl
Gal = 3 mg/dl Gal = 6 mg/d| Gal = 20 mg/d|
29 or T-Gal = 7 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 95 %ile
30 Gal = 4 meg/dl Gal = 4 mg/dl
or Gal = 95 %ile
Gal = 3 meg/dl Gal = 5 mg/dl
31 or T-Gal = 5 mg/dl or Gal-1-P = 15 mg/d|
or T-Gal > 97 %ile




T-Gal = 9.5 mg/dl T-Gal = 9.5 mg/dl T-Gal = 9.5 mg/dl |EMEEOHY MDA T OEDTY,
32 2 ol = 95 | medl TotalGal29.5mg/dl & GALTS2.4U/gHb
33 Gal = 3 mg/dl Gal = 3 mg/d|
34 Gal = 2.5 meg/dl Gal = 3 mg/dl
or Gal-1-P = 15 mg/dl or Gal-1-P = 15 mg/d|
35 Gal = 2.5 meg/dl Gal = 3 mg/dl
or Gal = 95 %ile or Gal-1-P = 15 mg/d|
Gal = 2.5 mg/dl Gal = 3 mg/d| Gal = 10 mg/dl
37 or Gal-1-P = 12 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 10 mg/dl
Gal = 25 mg/dl Gal = 3 mg/dl
38 or Gal = 95 %ile
or T-Gal = 8 mg/dl
20 Gal = 6 mg/dl Gal = 6 mg/dl Gal = 6 mg/dl |BMFEE : &GALTSEME=1.32nmol/h/disc
or Gal = 95 %ile
o Gal = 3 mg/dI Gal = 3 mg/dl
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
Gal = 3 mg/dl Gal = 6 mg/dl
43 or T-Gal = 7 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 95 %ile
Gal = 25 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
. or Gal = 95 %ile or T-Gal = 10 mg/dl
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 95 %ile
18 Gal = 4 mg/dl Gal = 4 mg/dl
or Gal = 95 %ile
9 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
or Gal-1-P = 15 mg/d|
54 Gal = 6 mg/dl Gal = 6 mg/dl
T-Gal = 6 mg/dI Gal = 3 mg/d|
59 or T-Gal = 95 %ile or Gal-1-P = 15 mg/dl
or Gal = 6 mg/dI
60 Gal > 3 mg/dl Gal > 3 mg/d| %DE%ZJ/ |\7r7l: f;al >10mg/dL and R4k
or Gal-1-P > 15 mg/dl | or Gal-1-P > 15 mg/dl SEEN BAAL
64 Gal = 3 mg/dl Gal = 3 mg/dl Gal = mg/dl Gal = 8 mg/dl
66 Gal = 3 mg/dI Gal = 6 mg/dl
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/dl
67 Gal = 3 mg/dI Gal = 3 mg/d|
or Gal-1-P = 15 mg/dl
o8 Gal = 3 mg/dI Gal = 3 mg/d|
or T-Gal = 10 mg/dl | or Gal-1-P = 15 mg/dl
69 Gal = 6 mg/dl Gal = 6 mg/dl & 45— (ETE) AN (EM)
or Gal-1-P = 18 mg/dl | or Gal-1-P = 18 mg/dl IE A5t & IE A5tk
71 Gal = 4 mg/dI Gal = 4 mg/d| Gal = 10 mg/d|
7 Gal = 3 meg/dl Gal = mg/dl #?‘fﬂ6ilﬁ4ﬁb‘5
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/d| ASYN=2 (-) BAE
74 Gal = 2.5 meg/dl Gal = 3 mg/dl
or Gal-1-P = 13.5 mg/dI or Gal-1-P = 15 mg/d|
75 Gal = 3 meg/dl Gal = 3 mg/dl Gal = 8 mg/dl
76 Gal = 2.5 mg/dl Gal = mg/dl
78 Gal = 3 meg/dl Gal = 4 mg/dl
or Gal-1-P = 15 mg/d|
Gal = 2.5 meg/dl Gal = 3 mg/dl Gal = 10 mg/dl
82 or T-Gal = 6 mg/dl or Gal-1-P = 15 mg/d|
or T-Gal 2 95 %ile




83 Gal = 6 mg/dl Gal = 6 mg/d| EMEE DY MATE
84 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl [ﬁﬁéﬂﬁé ?JWI\i?(IEiE?E]U
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/dl or RANS—i& () BEMU
Gal = 2.5 meg/dl Gal = 3 mg/dl Gal = 6 mg/dl
87 or T-Gal = 9 mg/dl | or T-Gal = 12 mg/dl or T-Gal = 20 mg/dl
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